Subject: Re: 3D-coordinates of index returned MAX()
Posted by marc schellens[1] on Mon, 07 Apr 2003 11:51:30 GMT

View Forum Message <> Reply to Message

| wote something similar to Mark, but here you convert all
indices at once. And instead of a list of dimensions, you just
call it with the array which was indexed by the 'where' function.
Hope it helps,

marc

 NAME:

;; L_GetDim

;» PURPOSE:

.» translates a one-dimensional index (like given by where() function)
;; into a multidimensional one (i.e. the array indices according to
;; the multidimensional array)

;» PARAMETERS:

.;a the array

;; IX the one dimensional index (or array of indices)

;; iIf ix is omitted, the dimensions of a are returned

;» KEYWORDS:

:» MINDIM if set, only the number of dimensions of a is returned,
" else 8 dimensions (what is better in some degenerated
. cases, i.e the calling program can rely on that there is
i’ always a second(third...) dimension given)

;; returns a 8 by n_elements(ix) array

., example:

;;IDL> a=intarr(23,24,27,33)

;;IDL> a[13,19,2,11]=1

;;IDL> ix=where(a)

;;IDL> print,|_getdim(a,ix)

,; 13 19 2 11 0
0 0 0

;;IDL> print,|_getdim(a)

' 23 24 27 33 1
1 1 1

:: MODIFICATION HISTORY:
> Marc Schellens 01.2002
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function L_GetDim,a,ix,MINDIM=minDim

sz=size(a)

if n_params() eq 1 then begin

;; maximum of eight dimensions in IDL
if keyword_set(minDim) then return,size(a,/dim)

r=lonarr(8)
=1

if sz[0] ge 1 then r[0:sz[0]-1]=sz[1:sZ[0]]

return,r
endif

nConv=n_elements(ix)

;; maximum of eight dimensions in IDL
r=lonarr(keyword_set(minDim)?sz[0]>1:8,nConv)

;;index 1
r[0,*]=ix mod sz[1]

;;index 2..n-1
sum=1L
for i=1,sz[0]-2 do begin
sum=sum*sz][i]
r[i,*]=(ix / sum) mod sz[i+1]
endfor

;o index n
if sz[0] ge 2 then begin
I=sz[0]-1

sum=sum*sz|[i]
r[i,¥]=ix / sum
endif

return,r
end
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